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Excluding, where he intended to throw, etc. — 91 P11 7 onR% YD

OVERVIEW

The X 13 states that regarding m23 21m, if one intended to throw a rock two nMinK
and it went four NmX and killed someone w2 (the victim was four MnX away
from the thrower), the ruling is that since the 7790 writes' 777 X 9w (and if he did
not aim), this excludes one who intended to throw two and threw four. The X7n)
however, does not state clearly whether he goes to n1?3 or not. The first explanation
of *"w" is that he goes to M73, since he cannot be included in the (following) verse
of Mm% 1APN "3 WX 71 2, but rather he fits the category of 011° WX 2P T2 *NAwN
nnw. The second interpretation of >"w1 maintains that he does not go to M2, since
the P05 writes 7% X? WX goes to N3, however this one did aim (for two mnX).
Our mpo1n discusses these two interpretations of >"wA.

=751 95 Y952 9N NDT YAIN PITY /A PIY 119010 VY9 DIVIIPA YWD PYNRAY PV
»"'w4, in his first interpretation, explains that when the X713 states 3"1an2% ©wm»
'7 P11 '2 P71V it means that he is not included in the (following) P05 of 79 % (if
he premeditates), and therefore he is m23 2.

mooin disagrees somewhat with >"wA:
- 7139 985 977 *n1)y) WIR 191 Y993 1A RYT WASY XA 11N 9V

And it would have been more acceptable to explain that (the 121 '2 P171% 115nn)

is not included in the 7105 of n»1 wINR 712%, which precedes the 7100 of 778 X WK1 -
— 3759103 5041 11 %3 Y9N

Rather than to interpret that the exclusion refers to the P05 of 7915 %3, which
follows the 105 of 7% X7 WX,

MooIN asks:
= YA9N P9 DIV P?ﬂtb 12995 MYy ANy TPI0NIN ININ 9TINRN ON)

And if you will say; why is it necessary to infer (from the P05 of 77% X? TWK)) to
obligate one who was '7 P11 '2 1719 $999n1 to go to nYoa -

' - 20,80 (DPwswn) M reads; T .Y O WK DipH T2 nR) TP AR DOTORT) TE KD WK 2 v nin np) UK o 2
N NORA T DYR MW 13777 MY 28 UK 9
? He is not killed but rather goes to M.
? See footnote # 1. A P05 more likely references something we already learnt previously than something which was
not learnt yet. [Additionally, there is a closer connection between N»1 N NAY WK 7191 to 77¢ X2 WX (they are one
continuum) as there is between ;77% X? w1 and WX 7°1 *21 (there are many words between them).]
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- PVIT PNYT NPYD NIINT

For from where would we assume that he is exempt from n12 -
- AN NV MIYT NOIWAT NINN NY INT “nvnn 910954

For the 7109 of 77% X7 WX is certainly not teaching us that the 121 '2 ,1% 1"10n2
is exempt from capital punishment, for it is obvious that a » is exempt from
capital punishment; so why is the 105 necessary to teach us that he is M3 2»n?

MooIN answers:
= (awn PRnNA M1 BV 2,197 man) PP9INN 17 1IN WY *9918 NYANT 910D W

And one can say; that the X713 in 19337 377 ¥2X P92 derived from the words X2

973 (without aim) -
- AN 183 D AT 183 PIRY 11905 V49

To exclude one who intends to throw to this side and it flew to the other side

that he is exempt from m»3 -
— YAINR DA DINY PR 11913 195K 139909 71N NP SN

So from this 710> we would have also exempted even one who was 1% 1502
"7 P91 '2. Therefore we require the PI0d of 77¢ XY w1 that by 1312 P11 11501 he is m2a 2.’

mooIn discusses now the second interpretation of >"w":
= NSP AYP M MUY DIVIIPI WY PINK YIT9D)

And there is a slight difficulty on the second interpretation of ''w, where he

maintains that the 121 '2 1717 101 is 7we from nYos -
- NIWY 099 9970 NN NY2 YN ON N 91NN 17 1N P91

For in %3377 377 Y98 P95 the X3 interprets that the P05 of 19777 7298 K92 o2 aN,
excludes from M%) an enemy who killed 31w3, since the p105 writes 72X X922 (without

enmity); and the 7109 of -
= NN T8 NODN NT TN PINND 1I9MY V99 NTY NDA

19978 X592 excludes from N19) one who intended to throw on this side and it went

to another side; and from the P00 in vown which states —
- Y2IN PN DXNY PINY 19NNY VI DTS KY TUN)

* One can possibly argue; indeed there is no need to teach us that the 121 'a p1ar> 11201 is M3 27, but perhaps we
may have thought that he is 7in"n 2°°17, therefore the 105 of 717¥ WX teaches us that he is not 7in°» 2°°17, but only 21
m73. NvoIN rejects this completely.
> The P09 in 3,72 (*¥on) 12713 states (regarding a 3w) 77X *22 *93 92 1P9Y 79w W 19T 72X K92 ¥No2 DX,
® In our texts there it reads: X TX7 79 75971 77 TX9 PIINNY VL.
" In the x»3 there in N7 he cites the P1od and our 7wWAT of 778 XY WK immediately after the 109 and the nw17 of
7Y 893; lending support to moon answer. The difference between the two cases is that when it flew in a different
direction it is considered an 01'X; however when it went further than his intention it is considered a »\W.
8 3,7, See footnote # 5.
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773 KD wRY we exclude one who intended ' P91 '2 21715 this concludes the citation

from the X713 in 79137 37 19X 1 -
=091 NPT NN BIVAVYNN NINY YW 29N9T DTS RY TUNN NIY

But now that *"w" interprets the 778 X2 WX P05 to exempt from M2, the X
there should have excluded from the P09 of 772 XY "wX, which is written in the

beginning of 23wpwW» MWD (much before *won NS in 2737 W) -
- “n¥930 189 119103 KW DT 182 DI 11993 1113 9I0AY 390 31T NN

That case which is more likely to be exempt, for instance where we intended to
throw on this side, where he did not intend to throw in in the direction of the

victim; the X3 should have applied the V1 of 77% X2 WX to this case, rather than applying
the exemption to a case of 121 "2 P171% 110n3, where the exemption is not so obvious.

MooIN answers:
- 18 RJ2T NP WITTH XIND INNNT 0IVN 907 U

And one can say; since the Xin began to interpret the beginning of the oD

which concludes with ;1372 8923 which is 1977 72°X *2 ¥noa ox from which we excluded a

X1, he continues interpreting the conclusion of this P109; 773 X93, so therefore -
= 9NN VIVAN 999TNY NNITT NT T8 DI 1990 NYWIa VD)

He mentions first the exclusion of ;73 722 P11% 39201, since he wants to mention
the more obvious exclusion first.

nooIN asks:
- Lanwan °Ppoin 10 19xa TN INDN TNIND ON)

And if you will say why is it necessary in 1°2177 377 Y98 P29 to cite the P09 of [*922
nY7], in order -

= DIRN AN HNNAN NINY 19N NVab

To exempt from M>3 one who intended to kill a cow and Kkilled a person instead;
it is not necessary to have another 109, for -

? moon question is as follows; from the first interpretation of *"21 we gather that 121 71 7%% 11901 is nM3n Mo, while
4312 P11 11903 is M23a 2»n; indicating that he is less liable for 121 A7 7¥% 11201 than 191 '2% 15n1 (see footnote # 7).
When using any 71217 to exclude something we first exclude that which is most obvious, and if there is an additional
exclusion we may exclude something which is less obvious. The 109 of 717 X? WX is written (in 2°vown) before the
100 of 7% K92 (in “yon nwAv), therefore from the first P09 of 77% X% WX we should exclude from ma the more
obvious case of 121 771 7¥% 1>n1 and from the second P09 of 777X *92 we can also exclude the not such obvious case
of 1212 P1r? 11501, Why reverse the order? See “Thinking it over” # 1.
1047,
' This is amended to read ny7 722 referring to the P09 (in 7,u° [2°voW] ©127) which reads; ©I WY 0¥77 127 N
aWwHY 2nAn 2 XIW RY XITLOYT 2222 1Y DR 72 WK 0 TR,
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- Zyaan 991 05NY 9IRY 199903 IN INN 182 DA AT 182 DI 11903 IN 13990 TN Y
Perforce this accident came to be either because he was P21 177 732 P19 Mom

"M 722 or it was "7 PO '2 PIMY 1I9N1; otherwise how did he kill the person. We know
already that he is Mm% Mo in these two cases, why do we require another v1¥°n for 21777 115N1
121 7727, when it is already included in one of these two cases?!

n90IN answers:
= T 183 N OTINNI NNNHAN AW P TPIVYIN ONNT 9D YN

And one can say that the m05 is necessary there in a case where for instance

the 772 and the person were side by side so there was no 121731 7% 1501 and no 1121
491 "2 7119, and nevertheless he is 75 because of the v from ny7 °722.

nooIn offers another solution:
= DTN NN 959N2 993090 9) N

Or you may also say; the exclusion is necessary for a case where he assumed it
was a %72 and it turned out to be a person, and nevertheless he is M7 Mw>.

nooIN asks:
= YPANND YN Y PN 51920 VNVYIA 9929 %29 MDY NNT NI

And it is astounding for 29 and the 3129 argue where the iron axe slipped off
the handle and killed, and they also argue where the person was killed from the

splintering wood due to the killer’s chopping -
— P19131 17 19X WA KNP 299M1) 1) INNA 2NN T

Where one master (the 1127) are 217 him to go to M7 in this case (of 71127 VAW
1nPn), and one master (°27) is 21 him in this case (of ¥pannia Yy 11); this is to

be found in the beginning of 1993257 377 Y98 2193 the question is -
= Y29N PN DINY PINRY 19910 1195 %N RN 29N INNIN

Why is he m>3 2v°m, for it is like the case of '7 P11 '2 P11 201 -
$PININIY TON 195V DI8Y ¥YPaY MY
For the killer intended to chop the wood which was in front of him and either

the axe or the splintered wood went a distance away; he should not be 2»n. maon does
not answer this question.'*

SUMMARY

"2 See “Thinking it over’ # 2.

13 9.1 in the mwn.

14 See 72N *won AR who cites an answer from the X"2w.
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"7 PN "2 PR Iona s either M3 20 (according to s™"w first interpretation), or
o (the second interpretation). MR 7%2 T2 77 7¥2 P12 17001 is less liable than
'7 PN "2 2119 1101, One is Mwd from N17a if he intended to kill a 772 and instead
killed a person even if it was not 121 737 7% 11501 or 121 "2 P1T? 10N,

THINKING IT OVER

1. m»doIn asks on the second NWH of *"w1 why does he not first exclude from nw»
D°vown (the more obvious case) rather than from >yon oo, Why did not msoIn
ask a similar question on the first 7W% of "w9; why did not the X n3 interpret first
the P09 in owown and later the 0109 in *yon?'

2. m»ooIn asks why it is necessary to have a P05 to exclude 71727 IR 2772 10N
D787 R A7 from M73 since it is already included in 21 37 7¥2 2119 1503 or P10N3
131 'a p1.'7 Is this question just on the second 1w% of >"wA or even on the first
'

15 See footnote # 9.
16 See Tmbni *wnon X # 76 (and footnote # 7).
17 See footnote # 12.
18 See 1Mo "won XK # 79.
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